Pm shri kendriya vidyalaya seoni

Winter break homework
class xii biology

e Complete your Investigatory project.

e Complete your Practical records

e Solve any 5 solved papers ,preferably last 5 years papers,having standard answers.
e Solve at least 3 unsolved papers.



PM SHRI Kendriya Vidyalaya Seoni

winter break homework
class 12th

1.Solving two unseen passages, only answer ( one case based).
2.0ne notice
3.0ne example of each pattern of invitation
4.0ne job application
5.0ne letter to the editor
6.0ne article writing.
7. One report writing.
8. One book review( 150-200 words)

9. Solving 2 sample papers.



SAMPLE PAPER
Mathematics Xll (Code-041)

Time Allowed: 3 Hours Maximum Marks: 80
General Instructions:

1. This Question paper contains - Five sections A, B, C, D and E. Each section is compulsory.
However, there are internal choices in some questions.

Section A has 18 MCQ’s and 02 Assertion-Reason based questions of 1 mark each.
Section B has 5 Very Short Answer (VSA)-type questions of 2 marks each.

Section C has 6 Short Answer (SA)-type questions of 3 marks each.

Section D has 4 Long Answer (LA)-type questions of 5 marks each.

Section E has 3 source based/case based/passagebased/integrated units of assessment (4
marks each) with sub parts.
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SECTION A(Multiple Choice Questions)Each question carries 1 mark

Q.LIf [ f(x)dx = 1and [. f(y)dy = 3, then [ f(2) dz is equal to

(a)0 (b) —2 (c) 2 (d) 4
-2 0 0
Q2.IfA=10 -2 0 ] then the value of |adj A| is
0 0 -2
(a) 64 (b) 16 (c) O (d) 8

Q3. The number of all possible matrices of order 3 x 3 with each entry 2 or 0 is

()9 () 27 (c) 81 (d) 512

3
Q. 4). The sum of the order and degree of the differential equation % [(Z—z) ] =0is

a) 2 b)1 c)3 d)4
. 3 =3 . .

Q5. If matrix A = [_3 3 ] and A= = kA , then the value of k is

(a)6 (b) 3 (c) 12 (d) 18
Q6. Let the vectors @ and b be such that |al =3 and |5| = g , then a x b is a unit vector, if the
angle
between @ and b is

T T V1 V3
(a)2 () 3 © 3 @3
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: : : : -5 -7 +2 x+3 -3 -6
Q7. The point of intersection of the lines = ;= y-~-12 X TS Y2272

-1 1 -36 2 4
(8) (2,10,4) ® (2137 © (535.-2) () (=3,3,6)
. _ 5x—4 , if 0<x<1 . _
Q8. The value of afor which the function f(x) = { 4x? + 3ax, if1<x<?2 is continuous at

every point of its domain is (a)? (b) 1 (© 0 (d) —1
2x (1 +sin Zx) .
Q. [e (—1 Toos,, ) dXis equal to

(a)e**tanx+C (b)) e**sec’x+C (c) iez" tanx + C (d) e**sec’?x + C

Q10. Integrating factor of the differential equation (1 — x?2) % —xy=1Iis

(3)—x (b) — © Vi—x2 ) %log(l —x?)

1+ x?
Q11. Consider the linear programming problem to maximize Z = 4x + y, Subject to the constraints
x+y<50;x+y =>100;x,y = 0, then the maximum value of Z is
(a) 0 (b) 50(c) 100 (d) does not exist
Q12.1f@=i+ 2j+ 2k, [b| =5 and the angle between @ and b is =, then the area of the triangle

formed by these two vectors as two sides is

(@) 15 sg. units (b)%§ sg. units (©) 12—5 sg. units (d)14—5 Sg. units

Ql13.IfA = [Z(i)r?:; _Ccs)lsnaa] and A + A’ = I, then the value of « is

()% ® % © = OE=

Q14. The corner points of the feasible region determined by the following system of linear
inequalities: 2x + y < 10; x + 3y < 15,x,y > 0are (0,0),(5,0),(3,4) and (0,5). Let

Z = px + qy, wherep,q > 0. Condition on p and g so that the maximum of Z occurs at both (3, 4)
and (0,5)is:  (a)p=q (b) p=2q (c) p=3q (d)g=3p

4

3] Is a singular matrix?

Q15. For what value of x is the matrix [Zxx_:_;

()2 (b) 3 (c) 4 (d) 5




Q16. Assume that in a family, each child is equally likely to be a boy or a girl. A family with three

children is chosen at random. The probability that the eldest child is a girl given that the family has at

least one girl is (a)% (b)§ ©) ; (d)g

e dy.
Q17.Ify = /sinx + y , then xS equal to

cosXx cosXx sinx sin x
2y -1 (b)1—2y (C) 1-2y (d) 2y -1

(a)

Q18. Thevalue of &. ( x k) + j. (i x k) + k. (i x J) is
(a)0 (b)-1(c) 1 (d)3
ASSERTION-REASON BASED QUESTIONS

In the following questions, a statement of assertion (A) is followed by a statement of Reason (R).

Choose the correct answer out of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.

(c) Alis true but R is false. (d) A is false but R is true.

51

. o _1(...5
Q19. Assertion (A):sin™ ! (sm ?n) ==

Reason (R):sin"(sinx) = x,Vx € [—g,g]
. . . . . x y-1 2-z
Q20. Assertion (A):The Direction Ratios of the line i g T oare- 4,2,3
. X y-1 z—2. . . . ...
Reason (R):The line: 1= 5 =5 perpendicular bisector of the line segment joining the
PointA(1,0,7) and B(1,6,3).
SECTION B

This section comprises of very short answer type-questions (VSA) of 2 marks each

Q21. For the principal value evaluate: tan~?! {2 sin (4 cos™1 ?)}

OR

x—2

Let A= R —{3}and B = R — {1}. Consider thefunction f: A » B defined by f(x) =

x—3




Is fone-one and onto? Justify your answer.

Q22. A ladder 5 m long is leaning against a wall. The bottom of the ladder is pulled along the ground,
away from the wall, at the rate of 2cm/s. How fast is its height on the wall decreasing when the foot of
the ladder is 4 m away from the wall?

Q23. Find the area of the parallelogram with diagonals 31 + J + 2k and i — 3] + 4k.
OR

7y-14  z-3 7-7x -5 6-z :
4 = and =2 are at right angle.
2p 2 3p 1 5

1_
Find the value of p if the lines 3" =

- 2
Q24.1f y = €9°5™'* then show that :(1 — xz)% - xZ—i —a’y=0
Q25. Let@ =i+4j+2k,b = 31— 2j+ 7kand ¢ = 21— j + 4k.Find a vector d_ which is
perpendicular to both @and b ,and €. d = 15.

SECTION C

(This section comprises of short answer type questions (SA) of 3 marks each)
6x+7

oo &

Q27. Let X denote the number of hours you study during a randomly selected school day. The

Q26.Evaluate: [

probability
that X can take the values x , has the following form, where k is some unknown constant.
0, ifx=0
N ) kx, if x=1or2
P(X =x) = k(5—x), ifx=30r4
0, otherwise

(a) Find the value of k.
(b) What is the probability that you study at least two hours? Exactly two hours?
OR
A man is known to speak truth 3 out of 4 times. He throws a die and reports that it is a six. Find the

probability that it is actually a six.

Q28. Evaluate [1"* log(1 + tanx)dxOR  Evaluate:[* |x® — x|dx
Q29. Solve the differential equation: % =1+ x + y? + x%y?, giventhat y = 1 when x = 0.
ORSolve the differential equation: (x cos% + ysin i) ydx = (y sinz — X CcoS g) xdy

Q30. Solve the following linear programming problem graphically: Maximise Z = 4x +y

subject to the constraints: x + y < 50; 3x +y<90; x>0, y>0




. (x%2 +1)
Q3L1. Find: [ T

SECTION D
(This section comprises of long answer-type questions (LA) of 5 marks each)

Q32. Using the method of integrals,find the area of the region{(x,y): x> + y2 < 9,1 < x < 2} .

Q33. Let N denotes the set of all natural numbers and R be the relation on Nx N defined by
(a.b)R(c,d) < ad(b + c) = bc(a + d), Check whether R is an equivalence relation on Nx N.

OR
On the set Z of all integers, consider the relation R= {(a, b): (a — b)isdivisible by 3} .Show that

R is an equivalence relation on Z.

i i - : . 5 3 -6
Q34. Find the image of the point (2, 4, —1) in theline x; =¥t _Z

4 -9
ORFind the shortest distance between the lines
1 1 1 -3 -5 -7
x+ :y+ :z+ andx _Y _Z
7 -6 1 1 -2 1
2 2 -4 1 -1 0
Q35.Given=|-4 2 —4|,B=1|2 3 4|, thenfind BA and use this to solve the system of
2 -1 5 0o 1 2

Equationsx —y =3,2x + 3y +4z=17and +2z =7, ,.

Q36. P(x) = —5x2 + 125x + 37500 is the total profit function of a company, where x is the

production of the company.

()  What will be the production when the profit is maximum?
(i)  What will be the maximum profit?

(iii) Check in which interval the profit is strictly increasing.
OR

(iv) When the production is 2units what will be the profit of the

company?

Q37. A coach is training 3 players. He observes that the player A can hit a target 4 times in 5 shots,

player B can hit 3 times in 4 shots and the player C can hit 2 times in 3 shots




From this situation answer the following

(1) Let the target is hit by A, B: the target is hit by B and, C: the target is hit by A and C. Then, the
probability that A, B and, C all will hit, is

(i) Referring to (i), what is the probability that B, C will hit and A will lose?

(iii)  With reference to the events mentioned in (i), what is the probability that ‘any two of A, B and
C will hit?

OR(iv). What is the probability that at least one of A, B or C will hit the target?

Q38. The use of electric vehicles will curb air pollution in the log sun. the use of electric vehicles is

increasing every year and estimated electric vehicles in use at any time t, is given by the function V.

V(t) = 4¢3 — 18 t% + 27t — 7 where t represents the time and t = 1, 2, 3, .....corresponds to year
2023, 2001, 2002, 2003

respectively.

N\ sALES

(). Verify the above function be used to estimate number of vehicles is continuous? Justify.

(ii). Prove that the function V/(t) is an increasing function.
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PM SHRI KENDRIYA VIDYALAYA SEONI
Winter break homework
Class- Xll(Chemistry)
Complete your investigatory project.
Complete your practical record.

Solve five sample papers.



